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30

*

0

02PIB

00PNB

PNB = PIB + RR – RV 

PNB = PIB + ΔR   

ΔR   > 0 ==>  RR > RV  ==> PNB > PIB ==> PNB = PIB + (RR - RV) 

ΔR   < 0 ==> RR < RV  ==> PNB < PIB  ==> PIB = PNB – (RR - RV) 

ΔR   = 0 ==> RR = RV  ==> PNB = PIB 

RR

RV

00PNN 

002PNNM 

PNNm = PNBM – Am 

RNNm = RNBM – Am 
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000PNNFRNNF 

PNNF = PNNM – Txi + Sub (Subvention) 

PNNm = PNNF + Txi - Sub  

00RP

RP = RNNF – (π’ + Tx π’y + Txss +…..) + Tr  

(π’ + Tx π’y + Txss +…..) 

05RDyD

RD = RP - Txd 
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02

VAB
*
 = VPT

**
 – CI

***
 

VABA + VABB … VABN = (VPTA - CIA) + (VPTB - CIB)…(VPTN - CIN) 

ΣVAB = ΣVPT – ΣCI 
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30C  B A

A

B

CB

A 3033033

B033033233

C033233033

0330333233

 
ΣVAB = ΣVPT – ΣCI 

VABA + VABB + VABC = (VPT - CI)A + (VPT - CI)B + (VPT - CI)C 

VABA = 100 – 0 = 100 

VABB = 300 – 100 = 200 

VABC = 600 – 300 = 300 

ΣVAB = 100 + 200 + 300 = 600 

ΣVAB = ΣVPT – ΣCI 

           = (VPTA + VPTB + VPTC) – (CIA + CIB + CIC) 

           = (100 + 300 + 600) – (0 + 100 + 300) 
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           = 1000 – 400 = 600 

00

RNBM = DNBM 

RNBM

DNBM
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E - M

E

ME - M 

DNB = C + I + G + E – M……………(01) 
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0Rm

RNNF = W +    + i + π + Rm

W0022000π220

i03

RNNF = W + R’ + i + π + Rn 

 ون 2254 = 225 + 60 + 133 + 1866 =           
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